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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1 (a) 2175 2.8 1.2 4 69.7 99.9

1 (b) 2176 2.6 1.1 4 66 99.9

2 (a) 2144 1.3 0.8 2 66.3 98.4

2 (b) 2139 3.4 2.3 9 37.4 98.2

3 (a) 2170 3.6 1.6 6 59.8 99.6

3 (b) (i) 2165 2.3 1.2 4 56.9 99.4

3 (b) (ii) 2164 1 0.8 2 50.8 99.4

3 (c) 2160 3.1 1.8 10 30.9 99.2

4 (a) 2148 1.4 0.9 2 70.6 98.6

4 (b) 2133 0.6 0.5 1 61.2 97.9

4 (c) (i) 2172 1.7 0.5 2 83.6 99.7

4 (c) (ii) 2131 1.5 0.6 2 76.5 97.8

4 (d) 2115 0.6 0.5 1 57.6 97.1

4 (e) 1973 0.8 0.8 2 39.8 90.6

4 (f) 2140 3.4 2.1 9 38.3 98
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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1 (a) Identify and describe two key components of a business plan to someone 
wishing to start up a new business. 


Total 


 


AO1: 4 marks 
 
Award 1 mark for each key component identified. 
Award 1 mark for description of each component identified. 
 


Indicative content: 
 


 The introduction – sometimes called the executive statement. It provides 
an overview of the business’s strategy and is evidence that the proposal is 
viable. It sets out how the business is going to be run. 


 The financial forecast – this is likely to contain a cash  flow forecast, 
budgets, profit and loss forecast and a break-even chart to help ensure 
sound financial management. 


 Market research – this may include both primary and/or secondary 
research that is relevant to the market within which the business intends to 
operate.  


 The personnel statement – how many employees will be needed and what 
skills will be required in order for the business to run effectively.  
Management and leadership should be identified. 


4 


1 (b) Explain two reasons why Jemma advises young people wishing to set up as 
entrepreneurs to ‘put together a good business plan’. 


Total 


 


AO1: 2 marks  
 


Award 1 mark for each valid reason identified 
 
AO3: 2 marks  
 


Award 1 mark for explanation of each reason 
 
Indicative content: 
 


 To help a new business survive the difficulties that it is likely to encounter 
when operating in a competitive market. Evidence indicates that those 
businesses that begin with a good business plan have a greater chance of 
survival.  


 A good plan will provide focus on a wide range of important issues, some 
of which may not be considered if a plan had not been drawn up.  Whilst 
the manufacturing element of the business may be very important, it is 
pointless if weak marketing fails to create sales. Entrepreneurs do not 
always have a range of business skills and a business plan helps them 
deal with those aspects of running a business that they may have not fully 
considered. 


 To convince potential lenders that the business is likely to be 
creditworthy. Bank managers are unlikely to be willing to support a loan 
application if they cannot see from the business plan that the enterprise 
has a good chance of success. 


 New enterprises can use the business plan to monitor their progress. 
Problems can be highlighted and costs controlled. Any issues that need 
resolving can be addressed. 
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Sticky Note

Two key components identified followed by appropriate description
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Sticky Note

Two valid reasons identified. No valid explanation offered. Last sentence is incorrect as no business plan is foolproof.
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Sticky Note

Key components identified. BOD 2. Positive marking applied.
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Sticky Note

Superficial response. Some reference to using a business plan as a guide to help monitor progress. 1 mark only.
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Sticky Note

Key elements identified and sound description to follow
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Sticky Note

Whilst not wonderfully expressed, sufficient development/explanation is evident to award full marks.












Answer all the questions in the spaces provided.


1.	 Jemma Cooper is an award winning business woman and founder and Managing Director of 
Hi Therapies beauty salon and JemmaCo Beautycare. Her awards included National Young 
Entrepreneur for Venus Women’s Awards 2013, where she is now its national ambassador. In 
her role as ambassador, the key piece of advice she offers to young people wishing to set up as 
entrepreneurs is: ‘Put together a good business plan which helps you get your ideas out of 
your head and onto paper in a structured form’.


	 Adapted: StartUp Britain 3 October 2016


	 (a)	 Identify and describe two key components of a business plan to someone wishing to start 
up a new business.	 [4]


	


	


	


	


	


	


	


	


	


	


	 (b)	 Explain two reasons why Jemma advises young people wishing to set up as entrepreneurs 
to ‘put together a good business plan’.	 [4]


	


	


	


	


	


	


	











































 


 


 


3 (a) Explain two reasons why Harry may have wanted to change the legal status of the 
business to a private limited company. [6] 


Band 
AO1  AO2 AO3 


2 marks 2 marks 2 marks 


2 


2 marks 
Two reasons for changing 
the status of the business 
to a private limited 
company are identified. 


2 marks 
Good application to the 
situation facing Harry as a 
sole trader. 


2 marks 
Good analysis of two reasons 
why Harry chose to change 
the legal status of the 
business. 


1 


1 mark 
One reason for changing 
the status of the business 
to a private limited 
company is identified. 


1 mark 
Limited application to the 
situation facing Harry as a 
sole trader.  


1 mark 
Limited analysis of one or two 
reasons why Harry chose to 
change the legal status of the 
business. 


0 
0 marks 


No reason identified 
0 marks 


No valid application  
0 marks 


No valid analysis  


 
Indicative content: 
 


 Changing the legal status to a limited company means that any potential 
shareholders in Springer Sports would have limited liability. As a sole trader Harry 
was personally liable for all the debts of the business. As a shareholder he would be 
in a less risky position and only liable for the amount of money he invested in the 
business. Financing the business by mortgaging his house was very risky. 


 More people would be willing to risk making an investment into Springer Sports 
because they are only liable to lose the amount of money originally invested. This 
would not be the case if they were to join Harry as a partner. This proved a positive 
move for Harry as the new directors would also share the workload of the growing 
business. 


 Changing the legal status offered greater opportunities for growth. Lenders tend to 
view companies more favourably than sole traders. Limited companies are regarded 
by many as a safer bet as they are required to comply with rules and regulations set 
out by the government. Therefore potential lenders are more likely to view Springer 
Sports as a business which is more likely to survive and prosper. 
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Sticky Note

Nothing of merit to this point.
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Sticky Note

One reason for changing status identified plus some limited application to the situation facing Harry. " marks.
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Sticky Note

 Reason identified and application undertaken with reference the expansion already undertaken by the business. Good analysis evident.
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Sticky Note

Second reason identified and appropriate analysis. Application to the risk Harry took in relation to his home when initially re-mortgaging.
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All three A0s achieved in this paragraph.
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Sticky Note

Again reference to the text with reference to the fact that Harry gained help in running the business from his fellow shareholders. Good analysis of the reason identified.












3.	 Springer Sports was established 14 years ago by Harry Springer as a sole trader. He initially 
funded the business by re-mortgaging his house and worked long hours to get the business on 
its feet. It began as a single retail outlet selling top quality men’s sportswear. Market research 
undertaken in 2005 clearly indicated to Harry that there was potential for growth and that the 
business should also be stocking sportswear for women and children.


 	 In addition to undertaking further market segmentation, he also decided to change the legal 
status of the business to a private limited company. He did this in order to encourage potential 
shareholders to invest in the business and help finance the potential growth. This proved to be a 
very successful plan and Harry today runs the business with three other directors, who between 
them have invested over £200 000. There are now 25 Springer Sports Ltd retail outlets across 
the country, employing over 220 people in this increasingly competitive market.


	 Sales and profits have fallen significantly in the last eighteen months and Harry has proposed 
to his fellow directors that they pay a market research company to undertake some primary 
research in order to identify the reasons for the decline in sales and offer some solutions. 
Having received a quote for the work, two of the directors are shocked at the high cost involved. 


	 (a)	 Explain two reasons why Harry may have wanted to change the legal status of the 
business to a private limited company.	 [6]
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Nothing of merit to this point.
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One reason for changing status identified plus some limited application to the situation facing Harry. " marks.
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 Reason identified and application undertaken with reference the expansion already undertaken by the business. Good analysis evident.
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Second reason identified and appropriate analysis. Application to the risk Harry took in relation to his home when initially re-mortgaging.
















 


 


3 (b) (i) With reference to Springer Sports Ltd what do you understand by the term 
market segmentation? 


Total 


 


AO1: 2 marks 
 
Award 1 mark each valid point 
 
 
Indicative content: 
 


 Market segmentation consists of the breaking down of a market into sub-
groups  which share similar characteristics. 


 
 
AO2: 2 marks 
 
Award 1 mark each valid application 
 
Indicative content: 
 


 Springer Sports segments its market by gender and by age 
 


4 


3 (b) (ii) Analyse one benefit to a business of market segmentation. [2] 


 


AO3: 2 marks 
 
Award 1 mark for each valid analytical point 
 
 
Indicative content: 
 


 Identifying market segments will increase a business’s understanding of its 
consumers. (1) This will enable a business to vary its products to better suit the 
needs of its customers. (1) Customers may then develop greater loyalty to the 
business (1) 
 


 May prevent promoting products to the wrong people. (1) Targeting the wrong 
customers can be costly and wasting resources in this way will damage 
profitability. (1) 
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Sticky Note

It is important to point out that the sub groups identified 'have similar characteristics'. 
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Good, concise explanation.
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Nothing of merit to this point.
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One reason for changing status identified plus some limited application to the situation facing Harry. " marks.
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Sticky Note

Poor examination technique is evident here.  'With reference to Springer Sports' is a clear guideline which has been ignored in this instance, resulting in the loss of 2 AO2 marks. In addition, to use the word segments is not acceptable. Credit was given for a recognition that the market is split up.
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Sticky Note

More development needed here to warrant both marks on offer.
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 Reason identified and application undertaken with reference the expansion already undertaken by the business. Good analysis evident.



Dave

Highlight



Dave

Sticky Note

Second reason identified and appropriate analysis. Application to the risk Harry took in relation to his home when initially re-mortgaging.
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A clear definition and sound application to the text.
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A well explained benefit - good, concise development.
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3.	 Springer Sports was established 14 years ago by Harry Springer as a sole trader. He initially 
funded the business by re-mortgaging his house and worked long hours to get the business on 
its feet. It began as a single retail outlet selling top quality men’s sportswear. Market research 
undertaken in 2005 clearly indicated to Harry that there was potential for growth and that the 
business should also be stocking sportswear for women and children.


 	 In addition to undertaking further market segmentation, he also decided to change the legal 
status of the business to a private limited company. He did this in order to encourage potential 
shareholders to invest in the business and help finance the potential growth. This proved to be a 
very successful plan and Harry today runs the business with three other directors, who between 
them have invested over £200 000. There are now 25 Springer Sports Ltd retail outlets across 
the country, employing over 220 people in this increasingly competitive market.


	 Sales and profits have fallen significantly in the last eighteen months and Harry has proposed 
to his fellow directors that they pay a market research company to undertake some primary 
research in order to identify the reasons for the decline in sales and offer some solutions. 
Having received a quote for the work, two of the directors are shocked at the high cost involved. 


	 (a)	 Explain two reasons why Harry may have wanted to change the legal status of the 
business to a private limited company.	 [6]
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	 (b)	 (i)	 With reference to Springer Sports Ltd, what do you understand by the term market 
segmentation?	 [4]


	


	


	


	


	


	


	


	


	 (ii)	 Analyse one benefit to a business of market segmentation.	 [2]


	


	


	


	


	 (c)	 To what extent can the high cost of conducting market research be justified by Springer 
Sports Ltd?	 [10]


	


	


	


	


	


	


	


	


	


	











